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Computational Fluency  
Progress-Monitoring System 

for K–6 Mathematics

Grade 3: Teacher

Note: These answer keys are used for both English and Spanish forms.
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TIER: Grade 3, Form 1

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
90

5 +
467
257

49 ÷ 7 215 + ____ = 345
×

32
3

48 ÷ 6
−

767
249

40 ÷ ____ = 5 9 × 7 ____ − 36 = 64

80 ÷ 8
−

690
577

955 − 325 − 60 2 × 8 48 ÷ ____ = 12

Name Date 

Correct Incorrect

450 7724

KEY

130 96

8 8518 63 100

10 570113 16 4



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 2

TIER: Grade 3, Form 1

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
59

631

176
×

45
9

9 × 10
−

695
564

____ ÷ 4 = 24

____ × 3 = 90

+
27

166

190

2 × 3 × 3 35 ÷ 7 3 × 4 × 5

5 × 7
×

45
3

20 × ____ = 80
×

23
7

580 − 40 + 160

Correct Incorrect

866 90405 131 96

30 18383 5 60

35 4135 161 700

KEY
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TIER: Grade 3, Form 2

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
30

8 +
356
189

63 ÷ 9 215 + ____ = 345
×

41
6

28 ÷ 4
−

852
344

50 ÷ ____ = 10 4 × 6 ____ − 46 = 54

70 ÷ 7
−

990
874

875 − 245 − 60 2 × 4 36 ÷ ____ = 12

Name  Date 

Correct Incorrect

240 7545

KEY

120 246

7 5508 24 100

10 570116 8 3



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 2

TIER: Grade 3, Form 2

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
68

582

149
×

65
6

5 × 10
−

797
452

____ ÷ 12 = 5

____ × 4 = 80

+
68

147

180

3 × 3 × 3 45 ÷ 5 4 × 4 × 5

5 × 4
×

25
4

30 × ____ = 90
×

49
7

580 – 40 + 260

Correct Incorrect

799 50390 345 60

20 27395 9 80

20 3100 343 800

KEY
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TIER: Grade 3, Form 3

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
80

4 +
723
177

21 ÷ 7 235 + ____ = 345
×

54
2

56 ÷ 8
−

694
386

30 ÷ ____ = 3 9 × 6 ____ − 27 = 73

40 ÷ 5
−

660
543

795 − 165 − 60 2 × 6 45 ÷ ____ = 15

Name  Date 

Correct Incorrect

320 3900

KEY

110 108

7 10308 54 100

8 570117 12 3
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TIER: Grade 3, Form 3

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
77

612

168
×

75
8

7 × 10
−

897
652

____ ÷ 7 = 13

____ ×7 = 70

+
98

122

159

4 × 2 × 6 15 ÷ 3 8 × 2 × 3

5 × 3
×

65
2

10 × ____ = 60
×

36
3

580 – 40 + 360

Correct Incorrect

857 70600 245 91

10 48379 5 48

15 6130 108 900

KEY
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TIER: Grade 3, Form 4

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
90

7 +
438
379

56 ÷ 7 845 + ____ = 985
×

73
2

12 ÷ 2
−

361
225

20 ÷ ____ = 5 4 × 4 ____ − 53 = 47

90 ÷ 9
−

840
722

965 − 335 − 60 0 × 2 48 ÷ ____ = 8

Name  Date 

Correct Incorrect

630 8817

KEY

140 146

6 4136 16 100

10 570118 0 6
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TIER: Grade 3, Form 4

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
19

452

144
×

15
6

2 × 10
−

896
653

____ ÷ 7 = 14

____ × 2 = 80

+
84

119

106

2 × 3 × 4 45 ÷ 9 5 × 3 × 3

1 × 5
×

15
2

20 × ____ = 60
×

22
9

480 − 40 + 160

Correct Incorrect

615 2090 243 98

40 24309 5 45

5 330 198 600

KEY
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TIER: Grade 3, Form 5

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
50

4 +
392
359

72 ÷ 9 815 + ____ = 945
×

62
3

24 ÷ 4
−

552
346

20 ÷ ____ = 10 7 × 9 ____ − 14 = 86

60 ÷ 6
−

740
626

975 − 345 − 60 1 × 2 45 ÷ ____ = 3

Name  Date 

Correct Incorrect

200 8751

KEY

130 186

6 2206 63 100

10 570114 2 15
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TIER: Grade 3, Form 5

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
71

329

117
×

25
7

8 × 10
−

598
421

____ ÷ 6 = 13

____ × 5 = 50

+
37

146

182

3 × 2 × 6 35 ÷ 5 6 × 2 × 6

6 × 5
×

25
3

40 × ____ = 80
×

17
8

480 − 40 + 260

Correct Incorrect

517 80175 177 78

10 36365 7 72

30 275 136 700

KEY



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 1

TIER: Grade 3, Form 6

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
60

6 +
267
195

21 ÷ 3 145 + ____ = 265
×

82
4

18 ÷ 6
−

731
605

10 ÷ ____ = 5 6 × 4 ____ − 18 = 82

50 ÷ 5
−

640
528

985 − 355 − 60 9 × 2 42 ÷ ____ = 14

Name  Date 

Correct Incorrect

360 7462

KEY

120 328

3 2126 24 100

10 570112 18 3



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 2

TIER: Grade 3, Form 6

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
64

250

136
×

35
8

10 × 2
−

695
453

____ ÷ 12 = 8

____ × 2 = 60

+
17

199

116

2 × 4 × 7 15 ÷ 5 3 × 4 × 6

5 × 1
×

35
4

50 × ____ = 50
×

32
6

480 − 40 + 360

Correct Incorrect

450 20280 242 96

30 56332 3 72

5 1140 192 800

KEY
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TIER: Grade 3, Form 7

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
70

6 +
474
157

63 ÷ 7 285 + ____ = 395
×

61
6

32 ÷ 8
−

985
756

50 ÷ ____ = 50 7 × 7 ____ − 22 = 78

30 ÷ 3
−

540
426

995 − 365 − 60 2 × 7 48 ÷ ____ = 6

Name  Date 

Correct Incorrect

420 9631

KEY

110 366

4 1229 49 100

10 570114 14 8
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TIER: Grade 3, Form 7

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
85

647

125
×

55
9

3 × 10
−

796
342

____ ÷ 13 = 7

____ × 8 = 80

+
33

187

140

3 × 3 × 5 25 ÷ 5 4 × 4 × 6

5 × 9
×

45
5

80 × ____ = 80
×

43
7

480 − 40 + 460

Correct Incorrect

857 30495 454 91

10 45360 5 96

45 1225 301 900

KEY
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TIER: Grade 3, Form 8

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
40

8 +
414
188

24 ÷ 3 365 + ____ = 495
×

21
7

18 ÷ 2
−

172
124

20 ÷ ____ = 4 8 × 9 ____ − 26 = 74

20 ÷ 5
−

440
322

855 − 225 − 60 2 × 9 36 ÷ ____ = 4

Name  Date 

Correct Incorrect

320 8602

KEY

130 147

9 548 72 100

4 570118 18 9
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TIER: Grade 3, Form 8

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
38

539

142
×

45
6

10 × 8
−

897
672

____ ÷ 5 = 19

____ × 3 = 60

+
79

150

136

2 × 3 × 8 45 ÷ 3 3 × 4 × 7

2 × 5
×

55
2

10 × ____ = 70
×

43
5

380 − 40 + 160

Correct Incorrect

719 80270 225 95

20 48365 15 84

10 7110 215 500

KEY
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TIER: Grade 3, Form 9

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
30

5 +
317
285

36 ÷ 3 435 + ____ = 575
×

51
8

14 ÷ 2
−

263
137

10 ÷ ____ = 2 9 × 9 ____ − 34 = 66

20 ÷ 2
−

340
227

865 − 235 − 60 5 × 2 42 ÷ ____ = 7

Name  Date 

Correct Incorrect

150 12602

KEY

140 408

7 5126 81 100

10 570113 10 6
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TIER: Grade 3, Form 9

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
25

541

138
×

65
7

10 × 7
−

598
271

____ ÷ 4 = 18

____ × 1 = 30

+
46

162

172

4 × 2 × 7 35 ÷ 7 8 × 2 × 4

7 × 5
×

65
3

30 × ____ = 60
×

39
7

380 − 40 + 260

Correct Incorrect

704 70455 327 72

30 56380 5 64

35 2195 273 600

KEY
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TIER: Grade 3, Form 10

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
20

6 +
497
109

18 ÷ 3 155 + ____ = 275
×

21
9

16 ÷ 4
−

478
119

10 ÷ ____ = 10 9 × 4 ____ − 38 = 62

10 ÷ 2
−

950
834

745 − 115 − 60 2 × 3 39 ÷ ____ = 13

Name  Date 

Correct Incorrect

120 6606

KEY

120 189

4 1359 36 100

5 570116 6 3
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TIER: Grade 3, Form 10

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
47

300

157
×

85
8

4 × 10
−

694
443

____ ÷ 14 = 3

____ × 2 = 40

+
55

123

134

2 × 4 × 6 45 ÷ 5 6 × 2 × 7

5 × 2
×

75
4

10 × ____ = 90
×

28
4

380 − 40 + 360

Correct Incorrect

504 40680 251 42

20 48312 9 84

10 9300 112 700

KEY
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TIER: Grade 3, Form 11

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
80

3 +
259
141

36 ÷ 9 515 + ____ = 645
×

84
2

36 ÷ 6
−

827
618

40 ÷ ____ = 10 8 × 7 ____ − 42 = 58

10 ÷ 5
−

850
732

885 − 255 − 60 8 × 2 32 ÷ ____ = 8

Name  Date 

Correct Incorrect

240 4400

KEY

130 168

6 4209 56 100

2 570118 16 4
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TIER: Grade 3, Form 11

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
53

485

105
×

75
9

10 × 6
−

795
654

____ ÷ 4 = 22

____ × 1 = 40

+
62

177

102

3 × 3 × 7 15 ÷ 3 8 × 2 × 4

3 × 5
×

85
5

20 × ____ = 20
×

27
6

380 − 40 + 460

Correct Incorrect

643 60675 141 88

40 63341 5 64

15 1425 162 800

KEY
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TIER: Grade 3, Form 12

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
80

6 +
499
317

18 ÷ 9 555 + ____ = 695
×

52
3

72 ÷ 8
−

183
155

30 ÷ ____ = 5 6 × 6 ____ − 57 = 43

20 ÷ 4
−

750
633

895 − 265 − 60 3 × 2 36 ÷ ____ = 9

Name  Date 

Correct Incorrect

480 2816

KEY

140 156

9 628 36 100

5 570117 6 4
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TIER: Grade 3, Form 12

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
24

299

169
×

95
6

10 × 5
−

896
543

____ ÷ 15 = 5

____ × 2 = 20

+
94

125

114

3 × 3 × 8 45 ÷ 9 4 × 4 × 3

8 × 5
×

95
2

10 × ____ = 50
×

18
8

380 − 40 + 560

Correct Incorrect

492 50570 353 75

10 72333 5 48

40 5190 144 900

KEY
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TIER: Grade 3, Form 13

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
60

7 +
385
156

54 ÷ 9 345 + ____ = 465
×

42
4

16 ÷ 2
−

913
609

20 ÷ ____ = 20 4 × 7 ____ − 61 = 39

30 ÷ 5
−

650
538

945 − 315 − 60 2 × 0 45 ÷ ____ = 9

Name  Date 

Correct Incorrect

420 6541

KEY

120 168

8 1304 28 100

6 570112 0 5
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TIER: Grade 3, Form 13

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
39

308

161
×

15
7

6 × 10
−

595
483

____ ÷ 3 = 19

____ × 1 = 50

+
32

161

179

2 × 4 × 8 35 ÷ 5 8 × 2 × 5

5 × 6
×

15
3

10 × ____ = 80
×

37
4

280 − 40 + 160

Correct Incorrect

508 60105 112 57

50 64372 7 80

30 845 148 400

KEY
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TIER: Grade 3, Form 14

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
20

8 +
487
348

28 ÷ 7 735 + ____ = 875
×

31
6

24 ÷ 6
−

845
528

50 ÷ ____ = 25 6 × 7 ____ − 67 = 33

40 ÷ 8
−

550
437

765 − 135 − 60 6 × 2 28 ÷ ____ = 7

Name  Date 

Correct Incorrect

160 4835

KEY

140 186

4 2317 42 100

5 570113 12 4
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TIER: Grade 3, Form 14

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
90

622

109
×

25
8

10 × 4
−

697
362

____ ÷ 6 = 14

____ × 3 = 30

+
12

139

165

3 × 3 × 6 15 ÷ 5 5 × 3 × 5

4 × 5
×

55
4

90 × ____ = 90
×

44
5

280 − 40 + 260

Correct Incorrect

821 40200 335 84

10 54316 3 75

20 1220 220 500

KEY
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TIER: Grade 3, Form 15

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
30

4 +
425
175

42 ÷ 7 415 + ____ = 535
×

21
6

36 ÷ 4
−

250
102

30 ÷ ____ = 6 7 × 8 ____ − 71 = 29

30 ÷ 6
−

450
336

775 − 145 − 60 2 × 5 42 ÷ ____ = 3

Name  Date 

Correct Incorrect

120 6600

KEY

120 126

9 5148 56 100

5 570114 10 14
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TIER: Grade 3, Form 15

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
14

556

130
×

35
9

10 × 3
−

895
463

____ ÷ 6 = 16

____ × 1 = 70

+
73

180

178

2 × 3 × 5 25 ÷ 5 6 × 2 × 8

9 × 5
×

25
5

40 × ____ = 40
×

24
3

280 − 40 + 360

Correct Incorrect

700 30315 432 96

70 30431 5 96

45 1125 72 600

KEY
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TIER: Grade 3, Form 16

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
40

6 +
457
264

27 ÷ 9 605 + ____ = 725
×

41
8

12 ÷ 6
−

394
275

30 ÷ ____ = 15 8 × 8 ____ − 73 = 27

40 ÷ 4
−

350
235

785 − 155 − 60 4 × 2 36 ÷ ____ = 3

Name  Date 

Correct Incorrect

240 3721

KEY

120 328

2 2119 64 100

10 570115 8 12
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TIER: Grade 3, Form 16

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
58

401

192
×

55
6

10 × 9
−

596
352

____ ÷ 5 = 13

____ × 6 = 60

+
49

194

160

2 × 3 × 6 45 ÷ 3 3 × 4 × 8

5 × 8
×

45
2

30 × ____ = 90
×

37
2

280 − 40 + 460

Correct Incorrect

651 90330 244 65

10 36403 15 96

40 390 74 700

KEY



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 1

TIER: Grade 3, Form 17

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
50

3 +
295
117

27 ÷ 3 605 + ____ = 725
×

71
9

48 ÷ 8
−

725
308

30 ÷ ____ = 10 8 × 4 ____ − 77 = 23

80 ÷ 8
−

960
848

845 − 215 − 60 2 × 1 39 ÷ ____ = 3

Name  Date 

Correct Incorrect

150 9412

KEY

120 639

6 3417 32 100

10 570112 2 13



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 2

TIER: Grade 3, Form 17

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
49

375

126
×

45
7

9 × 10
−

596
361

____ ÷ 3 = 18

____ × 1 = 80

+
81

153

109

2 × 3 × 7 35 ÷ 7 4 × 4 × 4

5 × 5
×

55
3

30 × ____ = 30
×

19
9

280 − 40 + 560

Correct Incorrect

550 90315 235 54

80 42343 5 64

25 1165 171 800

KEY



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 1

TIER: Grade 3, Form 18

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
40

9 +
397
308

81 ÷ 9 665 + ____ = 785
×

93
2

32 ÷ 4
−

446
219

40 ÷ ____ = 20 4 × 8 ____ − 82 = 18

70 ÷ 7
−

860
149

755 − 125 − 60 7 × 2 27 ÷ ____ = 9

Name  Date 

Correct Incorrect

360 9705

KEY

120 186

8 2227 32 100

10 570711 14 3



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 2

TIER: Grade 3, Form 18

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
75

210

155
×

65
8

5 × 10
−

697
372

____ ÷ 2 = 36

____ × 9 = 90

+
59

121

142

3 × 2 × 5 45 ÷ 5 5 × 3 × 4

5 × 7
×

65
4

10 × ____ = 20
×

23
8

680 − 40 + 260

Correct Incorrect

440 50520 325 72

10 30322 9 60

35 2260 184 900

KEY



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 1

TIER: Grade 3, Form 19

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
50

9 +
478
299

15 ÷ 3 635 + ____ = 765
×

83
3

54 ÷ 6
−

637
319

40 ÷ ____ = 40 6 × 8 ____ − 87 = 13

40 ÷ 5
−

760
647

735 − 105 − 60 2 × 10 48 ÷ ____ = 16

Name  Date 

Correct Incorrect

450 5777

KEY

130 249

9 1318 48 100

8 570113 20 3



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 2

TIER: Grade 3, Form 19

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
86

363

113
×

85
9

7 × 10
−

798
541

____ ÷ 5 = 17

____ × 1 = 90

+
64

192

154

4 × 2 × 8 15 ÷ 3 5 × 3 × 6

5 × 4
×

75
5

10 × ____ = 30
×

42
5

680 − 40 + 160

Correct Incorrect

562 70765 257 85

90 64410 5 90

20 3375 210 800

KEY



©2025 The University of Texas System/Texas Education Agency. Licensed under CC-BY-ND-NC 4.0 International. 1

TIER: Grade 3, Form 20

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

×
90

9 +
334
289

12 ÷ 3 875 + ____ = 995
×

72
4

64 ÷ 8
−

598
329

40 ÷ ____ = 4 7 × 6 ____ − 24 = 76

90 ÷ 9
−

680
564

835 − 205 − 60 10 × 2 32 ÷ ____ = 16

Name  Date 

Correct Incorrect

810 4623

KEY

120 288

8 10269 42 100

10 570116 20 2
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TIER: Grade 3, Form 20

Write the answer for each problem. If you don’t know how to work the problem, put an X over it and move to the next problem.

+
63

499

100
×

75
6

2 × 10
−

597
262

____ ÷ 3 = 26

____ × 4 = 40

+
25

105

175

3 × 3 × 4 45 ÷ 9 6 × 2 × 7

5 × 3
×

85
2

10 × ____ = 40
×

47
7

780 − 40 + 160

Correct Incorrect

662 20450 335 78

10 36305 5 84

15 4170 329 900

KEY
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